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6 ADC is a triangle.

63q

148q
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AED and ABC are straight lines. 
EB is parallel to DC.

 Angle EBC = 148q 
Angle ADC = 63q

Work out the size of angle EAB. 
You must give a reason for each stage of your working.

(Total for Question 6 is 5 marks)
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� The diagram shows triangle ABC.

CB
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D

75�

51�

ADB is a straight line.

the si]e of angle DCB : the si]e of angle ACD = 2 : 1

Work out the si]e of angle BDC.
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� The diagram shoZs a regular pentagon and a parallelogram.

x

117�

Work out the si]e of the angle marked x.
You must shoZ all \our Zorking.
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